

A Common Fixed Point Theorem for Φ - Weak Contractive Maps

Renu Chugh

Department of Mathematics,

Maharshi Dayanand University, Rohtak 124001, India

Abstract: Common fixed point result is presented for Suzuki type φ - weak contractive maps in complete metric spaces, where $\varphi : [0, \infty) \rightarrow [0, \infty)$ is a lower semi-continuous function with $\varphi(t) > 0$ for $t \in (0, \infty)$ and $\varphi(0) = 0$. Our results extend previous results of Zhang and Song (2009), as well as of Kikkawa and Suzuki (2008), Rhoades (2001), Nadler (1969) and Daffer and Kaneko (1995).

MSC: 54H25 and 47H10.

Keywords: Hausdorff metric; φ - weak contractive; lower semi-continuous; metric completeness; Banach contraction principle; Nadler's fixed point theorem; common fixed point.

1. Introduction

Throughout this paper we denote by N the set of all positive integers.

The Banach contraction theorem and its several extensions have been generalized using recently developed notion of weakly contractive maps. The following basic result is due to Rhoades [5].

Theorem 1.1. Let X be a complete metric space and $T : X \rightarrow X$ such that for every $x, y \in X$,

$$d(Tx, Ty) \leq d(x, y) - \varphi(d(x, y)),$$

where $\varphi : [0, \infty) \rightarrow [0, \infty)$ is a continuous and nondecreasing function with $\varphi(0) = 0$ and $\varphi(t) > 0$ for all $t > 0$.

Then T has a unique fixed point.

Very recently, the following theorem was given by Suzuki [7], which is a new type of generalization of the Banach contraction principle [1] (see also [3], [8]).

Theorem 1.2 Let (X, d) be a complete metric space and let $T : X \rightarrow X$. Assume that there exists $r \in [0, 1)$ such that for every $x, y \in X$,

$$d(x, Tx) \leq (1+r) d(x, y) \text{ implies } d(Tx, Ty) \leq r d(x, y).$$

Then there exists $z \in X$ such that $z \in Tz$.

Definition 1.3 [6] Let (X, d) be a metric space. Two mappings $S, T : X \rightarrow X$ are called φ -weak contractive if there exists a map $\varphi : [0, \infty) \rightarrow [0, \infty)$ with $\varphi(0) = 0$ and $\varphi(t) > 0$ for all $t > 0$ such that for every $x, y \in X$,

$$d(Sx, Ty) \leq d(x, y) - \varphi(d(x, y)).$$

The concept of φ -weak contractive mappings was defined by Daffer and Kaneko [2] in 1995.

The purpose of this paper is to combine the ideas of Theorem 1.1 and Theorem 1.2 and to obtain common fixed point theorems for a pair of maps in complete metric spaces.

2. Main Results

In this paper, we prove common fixed point theorem for φ -weak contractive mappings with constants in complete metric spaces as follows:

Theorem 2.1 Let (X, d) be a complete metric space and let $S, T : X \rightarrow X$. Assume that there exists $r \in [0, 1)$ such that for every $x, y \in X$,

$$\begin{aligned} \min\{d(x, Sx), d(y, Ty)\} \leq (1+r) d(x, y) \text{ implies} \\ d(Sx, Ty) \leq d(x, y) - \varphi d(x, y), \end{aligned} \tag{2.1}$$

where $\varphi : [0, \infty) \rightarrow [0, \infty)$ is a lower semi-continuous function with $\varphi(t) > 0$ for $t \in (0, \infty)$ and $\varphi(0) = 0$.

Then there exists $z \in X$ such that $z \in Sz \cap Tz$.

Proof. Take $x_0 \in X$. Putting $x_1 = Tx_0$ and $x_2 = Sx_1$, then let $x_3 = Tx_2$ and $x_4 = Sx_3$.

Inductively, Choose a sequence $\{x_n\}$ in X so that

$$x_{2n+1} = Tx_{2n} \text{ and } x_{2n+2} = Sx_{2n+1} \text{ for all } n \geq 0.$$

$$\text{As } d(x_{n-1}, x_n) \leq (1+r) d(x_{n-1}, x_n) \tag{2.2}$$

Now if n is odd

$$\text{Suppose if } d(x_{n-1}, x_n) \leq d(x_n, x_{n+1}) \tag{2.3}$$

Then by (2.2) and (2.3)

$$\min \{d(x_{n-1}, x_n), d(x_n, x_{n+1})\} \leq (1+r) d(x_{n-1}, x_n)$$

And this implies (2.1), that is, we have

$$d(Sx_n, Tx_{n+1}) \leq d(x_n, x_{n+1}) - \varphi d(x_n, x_{n+1}).$$

$$\text{Suppose if } d(x_n, x_{n+1}) \leq d(x_{n-1}, x_n), \tag{2.4}$$

$$\text{and by (2.2), } d(x_{n-1}, x_n) \leq (1+r) d(x_{n-1}, x_n).$$

$$\text{So } d(x_n, x_{n+1}) \leq (1+r) d(x_{n-1}, x_n). \tag{2.5}$$

Then by (2.4) and (2.5)

$$\min \{d(x_{n-1}, x_n), d(x_n, x_{n+1})\} \leq (1+r) d(x_{n-1}, x_n)$$

And this implies (2.1), that is, we have

$$d(Sx_n, Tx_{n-1}) \leq d(x_n, x_{n-1}) - \varphi d(x_n, x_{n-1}).$$

It follows from property of the function φ that if n is an odd,

$$\begin{aligned} d(x_{n+1}, x_n) = d(Sx_n, Tx_{n-1}) &\leq d(x_n, x_{n-1}) - \varphi(d(x_n, x_{n-1})) \\ &\leq d(x_n, x_{n-1}). \end{aligned}$$

$$\text{i.e. } d(x_{n+1}, x_n) \leq d(x_n, x_{n-1}).$$

Similarly if n is even, we obtain $d(x_{n+1}, x_n) \leq d(x_n, x_{n-1})$.

Therefore, for all $n \geq 0$, $d(x_{n+1}, x_n) \leq d(x_n, x_{n-1})$ and so $\{d(x_{n+1}, x_n)\}$ is monotonic nonincreasing and bounded below, so there exists $r \geq 0$ such that

$$\lim_{n \rightarrow \infty} d(x_{n+1}, x_n) = r = \lim_{n \rightarrow \infty} d(x_n, x_{n-1}) \tag{2.6}$$

Then (by lower semi-continuity of φ)

$$\varphi(r) \leq \liminf_{n \rightarrow \infty} \varphi(d(x_n, x_{n-1})).$$

We claim that $r = 0$. In fact taking upper limits as $n \rightarrow \infty$ on either side of the following inequality:

$$d(x_{n+1}, x_n) \leq d(x_n, x_{n-1}) - \varphi(d(x_n, x_{n-1})).$$

and using (2.6), We have

$$r \leq r - \varphi(r).$$

i.e. $\varphi(r) \leq 0$. Then $\varphi(r) = 0$ by the property of function φ , and furthermore by property of function φ

$\varphi(r) = 0$ implies $r = 0$.

$$\text{So } \lim_{n \rightarrow \infty} d(x_{n+1}, x_n) = r = 0. \tag{2.7}$$

Next we claim that $\{x_n\}$ is Cauchy.

Let $C_n = \sup\{d(x_j, x_k) : j, k \geq n\}$.

Then $\{C_n\}$ is decreasing.

If $\lim_{n \rightarrow \infty} C_n = 0$, then we are done.

Assume that $\lim_{n \rightarrow \infty} C_n = C > 0$.

Choose $\varepsilon < \frac{C}{8}$ small enough and select N such that for all $n \geq N$,

$$d(x_{n+1}, x_n) < \varepsilon \text{ and } C_n < C + \varepsilon.$$

By the definition of C_{N+1} , there exists $m, n \geq N + 1$ such that

$$d(x_m, x_n) > C_n - \varepsilon \geq C - \varepsilon.$$

Replacing x_m by x_{m+1} if necessary, we have

$$d(x_n, x_{m+1}) > C - \varepsilon \tag{2.8}$$

$$\text{i.e. } d(x_n, x_{m+1}) - d(x_{m+1}, x_m) > C - \varepsilon - d(x_{m+1}, x_m)$$

$$\text{i.e. } d(x_n, x_m) \geq d(x_n, x_{m+1}) - d(x_{m+1}, x_m) > C - \varepsilon - d(x_{m+1}, x_m)$$

$$\text{i.e. } d(x_m, x_n) > C - \varepsilon - d(x_{m+1}, x_m)$$

$$\text{i.e. } d(x_m, x_n) > C - \varepsilon - \varepsilon$$

$$\text{i.e. } d(x_m, x_n) > C - 2\varepsilon. \tag{2.9}$$

We may assume that m is even, n is odd

$$\text{Then } d(x_{m-1}, x_{n-1}) > C - 4\varepsilon.$$

$$\text{And since } d(x_{m-1}, x_m) \leq d(x_{m-1}, x_{n-1}) \text{ and } d(x_{n-1}, x_n) \leq d(x_{m-1}, x_{n-1}).$$

$$\text{So } \min\{d(x_{m-1}, x_m), d(x_{n-1}, x_n)\} \leq d(x_{m-1}, x_{n-1}).$$

$$\text{i.e. } \min\{d(x_{m-1}, x_m), d(x_{n-1}, x_n)\} \leq (1+r) d(x_{m-1}, x_{n-1}).$$

$$\text{i.e. } \min\{d(x_{m-1}, Sx_{m-1}), d(x_{n-1}, Tx_{n-1})\} \leq (1+r) d(x_{m-1}, x_{n-1}).$$

So from given assumption

$$d(Sx_{m-1}, Tx_{n-1}) \leq d(x_{m-1}, x_{n-1}) - \varphi(d(x_{m-1}, x_{n-1})).$$

i.e. $d(x_m, x_n) = d(Sx_{m-1}, Tx_{n-1}) \leq d(x_{m-1}, x_{n-1}) - \varphi(d(x_{m-1}, x_{n-1})).$

i.e. $d(x_m, x_n) \leq d(x_{m-1}, x_{n-1}) - \varphi(d(x_{m-1}, x_{n-1})).$

We have proved that $C_{N+1} < C_N - \varphi\left(\frac{C}{2}\right)$. (if ε is small enough)

This is impossible. Thus we must have $C = 0$.

That is, the sequence $\{x_n\}$ is Cauchy sequence. Since X is complete, so the sequence $\{x_n\}$ is convergent.

i.e. there exists $z \in X$ such that $x_n \rightarrow z$ as $n \rightarrow \infty$.

Moreover $x_{2n} \rightarrow z$ and $x_{2n+1} \rightarrow z$ $n \rightarrow \infty$.

Now we prove that z is fixed point of T .

Since $x_n \rightarrow z$, there exists $n_0 \in N$ such that

$$d(z, x_n) \leq \frac{1}{3} d(z, y) \text{ for all } n \in N \text{ with } n \geq n_0.$$

Then we have

$$\begin{aligned} (1+r)^{-1} d(x_{2n-1}, Sx_{2n-1}) &\leq d(x_{2n-1}, Sx_{2n-1}) \leq d(x_{2n-1}, x_{2n}) \\ &\leq d(x_{2n-1}, z) + d(z, x_{2n}) \\ &\leq \frac{2}{3} d(y, z) = d(y, z) - \frac{1}{3} d(y, z) \\ &\leq d(y, z) - d(x_{2n-1}, z) \\ &\leq d(x_{2n-1}, y) \\ d(x_{2n-1}, Sx_{2n-1}) &\leq (1+r) d(x_{2n-1}, y). \end{aligned} \tag{2.10}$$

Now suppose if $d(y, Ty) \leq d(x_{2n-1}, Sx_{2n-1})$.

Then $d(y, Ty) \leq d(x_{2n-1}, Sx_{2n-1}) \leq (1+r) d(x_{2n-1}, y)$.

And this implies (2.1), that is, we have

$$d(Sx_{2n-1}, Ty) \leq d(x_{2n-1}, y) - \varphi(d(x_{2n-1}, y)).$$

Letting $n \rightarrow \infty$, we have

$$d(z, Ty) \leq d(z, y). \tag{2.11}$$

Suppose if $d(x_{2n-1}, Sx_{2n-1}) \leq d(y, Ty)$,

and this implies (2.1), that is, we have

$$d(Sx_{2n-1}, Ty) \leq d(x_{2n-1}, y) - \varphi(d(x_{2n-1}, y)).$$

Letting $n \rightarrow \infty$, we have

$$d(z, Ty) \leq d(z, y). \tag{2.12}$$

Thus from (2.11) and (2.12), we conclude

$$d(z, Ty) \leq d(z, y) \text{ for all } y \in X - \{z\}. \tag{2.13}$$

We next prove that

$$d(Sz, Ty) \leq d(z, y). \tag{2.14}$$

We assume that $y \neq z$.

Then for every $n \in \mathbb{N}$, there exists $z_n \in Ty$ such that

$$d(z, z_n) \leq d(z, Ty) + \frac{1}{n} d(z, y).$$

$$\begin{aligned} \text{Now } d(y, Ty) &\leq d(y, z_n) \leq d(y, z) + d(z, z_n) \\ &\leq d(y, z) + d(z, Ty) + \frac{1}{n} d(z, y) \\ &\leq d(y, z) + d(y, z) + \frac{1}{n} d(z, y) \end{aligned}$$

$$\text{i.e. } d(y, Ty) \leq \left(2 + \frac{1}{n}\right) d(y, z)$$

$$\text{i.e. } \frac{1}{2} d(y, Ty) \leq d(y, z).$$

Suppose if $d(y, Ty) \leq d(z, Sz)$,

and this implies (2.1), that is, we have

$$d(Sz, Ty) \leq d(z, y) - \varphi(d(z, y)). \tag{2.15}$$

And if $d(z, Sz) \leq d(y, Ty)$

$$\text{i.e. } \frac{1}{2} d(z, Sz) \leq \frac{1}{2} d(y, Ty)$$

$$\text{i.e. } \frac{1}{2} d(z, Sz) \leq d(z, y).$$

And this implies (2.1), that is, we have

$$d(Sz, Ty) \leq d(z, y) - \varphi(d(z, y)). \quad (2.16)$$

Thus from (2.15) and (2.16), we have

$$d(Sz, Ty) \leq d(z, y) - \varphi(d(z, y)).$$

Finally, Since

$$\begin{aligned} d(z, Sz) &= \lim_{n \rightarrow \infty} d(x_{2n+1}, Sz) \\ &= \lim_{n \rightarrow \infty} d(Tx_{2n}, Sz) \\ &\leq \lim_{n \rightarrow \infty} [d(z, x_{2n}) - \varphi(d(z, x_{2n}))] \\ &= d(z, z) - \varphi(d(z, z)) = 0, \end{aligned}$$

i.e. $d(z, Sz) = 0$.

implies $z = Sz$.

Similarly we can prove that $z = Tz$.

Thus $z = Sz = Tz$.

Corollary 2.1. Let X be a complete metric space and $T : X \rightarrow X$ such that for every $x, y \in X$,

$$d(x, Tx) \leq (1+r) d(x, y) \text{ implies } d(Tx, Ty) \leq d(x, y) - \varphi(d(x, y)),$$

where φ is defined as in Theorem 2.1. Then T has a unique fixed point.

Proof. It comes from Theorem 2.1 when $S = T$.

The following example shows the generality of our results.

Example 2.1 Define a complete metric space X by

$$X = \{(0, 0), (0, 4), (4, 0), (4, 5), (5, 4)\}$$

and its metric d by

$$d[(x_1, x_2), (y_1, y_2)] = |x_1 - y_1| + |x_2 - y_2|.$$

Let S, T and f be such that

$$S(x_1, x_2) = \begin{cases} (0, x_1) & \text{if } x_1 \leq x_2 \\ (0, x_2) & \text{if } x_1 > x_2, \end{cases} \quad T(x_1, x_2) = \begin{cases} (x_1, 0) & \text{if } x_1 \leq x_2 \\ (0, x_2) & \text{if } x_1 > x_2 \end{cases}$$

Then S and T satisfy the assumption in Theorem 2.1 (and also Corollary 2.1), but do not satisfy the assumption in Theorem 1.1 at $x = (4, 5), y = (5, 4)$.

Proof. We first note that $d(Sx, Ty) \leq d(x, y) - \varphi(d(x, y))$

if $(x, y) \neq ((5, 4), (4, 5))$. Since at $(x, y) = ((5, 4), (4, 5))$

$$\begin{aligned}\min\{d(x, Sx), d(y, Ty)\} &= \min\{d((5, 4), S(5, 4)), d((4, 5), T(4, 5))\} \\ &= \min\{5, 5\} = 5 > (1+r)2 = (1+r)d(x, y).\end{aligned}$$

Thus S and T satisfy the assumption in Theorem 2.1 (and also Corollary 2.1), but do not satisfy the assumption in Theorem 1.1.

References

1. S. Banach, Sur les operations dans les ensembles abstraits et leur application aux equations integrals, *Fund. Math.* 3 (1922) 133-181.
2. P. Z. Daffer and H. Kaneko, Fixed points of generalized contractive multi-valued mappings, *J. Math. Anal. Appl.* 192(1995) 655-666.
3. M. Kikkawa, Tomonari Suzuki, Three fixed point theorems for generalized contractions with constants in complete metric spaces, *Nonlinear Anal.* 69 (2008) 2942-2949.
4. S. B. Nadler, Multi-valued contraction mappings, *Pacific J. Math.* 30(1969) 475-488.
5. B. E. Rhoades, Some theorems on weakly contractive maps, *Nonlinear Analysis: Theory, Methods & Applications* 47(2001) 2683-2693.
6. B. D. Rouhani, Sirous Moradi, Common fixed point of multivalued generalized φ -weak contractive mappings, *Fixed Point Theory and Appl.* (2010) 1-13.
7. T. Suzuki, A generalized Banach contraction principle that characterizes metric completeness, *Proc. Amer. Math. Soc.* 136 (2008) 1861-1869.
8. Q. Zhang and Y. Song, Fixed point theory for generalized φ -weak contractions, *Applied Math. Letters* 22(2009) 75-78.